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vekTor
N 4

Cneundukayna
HomuHanbHoe HanpsaxeHne 12B
. C20(10.5B) 7.2 Ay
MKOCTb
(25°C) C10(10.5B) 6.7 Au
C1(9.6B) 4.7 Ay
OnnHa 151 £ 1.5mMm
WnpuHa 65 £ TMm
Pasmepbl
BbicoTa 94 + TMm
[NonHas Bbicota 100 = TMm
Bec 2.15 Kr £ 5%
Tun kremm T1/T2
BHyTpeHHee conpoTusneHne
(MonHocTio 3apskeHHOM =21mQ
6atapeu (25°C)
3aBMCMOCTb 40°C =
emMKoCT 25°C 100% PA3MEPDI TUM KNEMM
o, [o)
or Teﬁner?Typbl 0 E 85% 151£1.5 v 65+1 v
i -15°C 65% =
HomuHanbHas Temnepatypa o o N
3KcnnyaTauV|wp P 25°C£3°C EF <
220°C~ o O o |-
Temneparypa Paspsag 20°C +60°C # ﬁ-’ 32
aKCMIyaTaumm 3apsa -10 °C~+60°C - 6.35 |
XpaHeHne -20°C~+60°C I I D
H 13.50-13.80B
B 6?/%%?&%%&2?#&2’)(%%) TemnepaTypHasa KoMneHcayms: = KNEMM T1 3
-18mB/°C 5
HansxeHve noasapaga 14.50-15.008 °
B LMKNMYECKOM peﬂ(mnﬁe%zs"C) TemnepaTypHasa KoMneHcauusa: =] o
-30mB/°C A @
MakcrManbHbI TOK 3apaga 216 A -
MaKcuMasibHbI TOK paspsaga 108 A (5 cek) 34
PacueTHbIi Cpok cnyx6bil (20°C) 5 net 785 4o
c 3 mecaua OcTaTo4yHas eMKocTb: 91% I I D
al(v;(;rjg)s PAA 6 MecALEeB OcTaTo4YHas eMKocCTb: 82% KINEMM T2 P
. V)
12 mecaues | OcTtaTouHasA eMKoCTb: 65% TexHonornsa AGM =
Kopnyc ABS =
Paspag noctoaHHbIM TOKOM (Amnep, 25°C) _
Bpf,’v,’;;:?,g,‘,’;,/ﬂa 5 MUH 10MuH  15MuH 30 MUH 60 MUH 2y 3y 4y 5y 10y 204
9.6B 28.7 18.2 14.2 7.99 4.74 2.69 1.86 1.54 1.31 0.70 0.37
9.9B 27.8 17.6 13.8 7.83 4.72 2.67 1.85 1.53 1.30 0.69 0.37
10.2B 26.6 16.9 133 7.59 4.71 2.65 1.84 1.52 1.29 0.68 0.36
10.5B 255 16.2 129 7.40 4.69 2.61 1.82 1.51 1.28 0.67 0.36
10.8B 24.1 15.2 12.2 7.13 4.67 2.54 1.77 1.46 1.24 0.66 0.35
Pa3spag noCcTOAHHON MOLLHOCTbIC
Bp*‘;;;‘,;;;gg;.’na 5 MUH 10MAH  15MuH 30 MuH 60 MUH 2y 3y 4y 5y 104 20y
9.6B 320 205 162 91.5 56.9 314 22.1 18.3 15.6 8.52 4.57
9.9B 310 199 158 89.7 56.0 313 22.0 18.2 15.5 8.49 4.55
10.2B 297 190 152 87.0 54.6 31.0 21.8 18.1 15.4 8.45 4.53
10.5B 285 182 147 84.9 535 30.5 21.7 18.0 15.3 8.40 4.50
10.8B 269 172 139 81.7 51.9 29.7 21.0 17.4 14.9 823 4.41
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